
Chapter 15: Understand Perimeter
Dear Family,

In the next few weeks, we will be
learning about perimeter — the
total distance around a figure. 

Students will practice finding
perimeter by:
✔ Counting units around a figure
✔ Adding measured side lengths
✔ Using a perimeter formula

This packet includes helpful
definitions and examples on the
first two pages to guide you.

Let's get ready to explore
perimeter together!

Vocabulary 

Area: The measure of the number of unit squares
needed to cover a surface.

Square inch: A square inch is the area of a unit
square.

Square unit:  A unit used to measure area, such as
square foot, square meter, and so on.

Unit square: A square with a side length of 1 unit,
used to measure area.

Composite figure: A figure made by joining one or
more figures.

Perimeter: The distance around a figure.

Formula: A mathematical rule.

Homework due date: Sunday, March 16th
The Chapter 14 (Understand Area) test is on Wednesday, March 12th, with
Monday and Tuesday’s homework serving as practice.
Feel free to contact me with any questions at
diana.charaf@archimedean.org

Complete homework daily based on the schedule provided below:

Monday 03/10 - pages: 695, 696, 697
 Tuesday 03/11  - pages: 698, 699, 700
 Wednesday 03/12   -  pages: 707, 708

 Thursday 03/13   -  pages: 713, 714
 Friday 03/14  pages: 719, 720

3rd Grade American Math HW
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585� � Eknqhc‘&r�A-D-R-S-�Fn�L‘sg � @bbdkdq‘sdc�Fq‘cd�2

� 3-� Sgd�cq‘vhmf�rgnvr�Rdsg&r�ok‘m�enq�‘�enqs�hm�ghr�a‘bjx‘qc-�

� �

� � Vghbg�dpt‘shnmr�b‘m�Rdsg�trd�sn�ehmc�sgd�‘qd‘�ne�sgd�enqs>�L‘qj�‘kk�
sg‘s�‘ookx-

@ � 3�=�3�=�3�=�3�×�05� C � 3� �3�×�05

A � 6�=�3�=�6�=�3�×�11� D � 6� �6�×�38

B � 6�=�6�=�6�=�6�×�17� E � 3� �6�×�17

� 4-� Bntms�sn�ehmc�sgd�‘qd‘�ne�sgd�ehftqd-

5-� Ehmc�sgd�‘qd‘�ne�sgd�ehftqd-

^�rpt‘qd�tmhsr

■� 14�rpt‘qd�tmhsr

■� 24�rpt‘qd�tmhsr

■� 3/�rpt‘qd�tmhsr

■� 34�rpt‘qd�tmhsr
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6-� Cq‘v�‘mc�rg‘cd�entq�qdbs‘mfkdr�sg‘s�d‘bg�g‘ud�‘m�‘qd‘�ne�01�
rpt‘qd�tmhsr-�Sgdm�vqhsd�‘m�‘cchshnm�nq�ltkshokhb‘shnm�dpt‘shnm�
enq�sgd�‘qd‘�ne�d‘bg�qdbs‘mfkd-

8-� Vg‘s�hr�sgd�‘qd‘�ne�sgd�ehftqd�rgnvm>�

^�rpt‘qd�tmhsr

7-� Lqr-�It‘qdy&r�rstcdms�cqdv�sghr�ehftqd�nm�cns�o‘odq-�Vg‘s�hr�sgd�
‘qd‘�ne�sgd�ehftqd>

^�rpt‘qd�tmhsr
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0/-� Vg‘s�hr�sgd�‘qd‘�ne�sgd ehftqd>

00-� Fdql‘hmd�hr�shkhmf�ghr�o‘msqx�eknnq�vhsg�rpt‘qd�shkdr-�D‘bg�rpt‘qd�
shkd�g‘r�rhcd�kdmfsgr�ne�0�rpt‘qd�tmhs-�Fdql‘hmd�trdr�4�qnvr�ne�shkdr�
vhsg�5�shkdr�hm�d‘bg�qnv-�Vg‘s�hr�sgd�‘qd‘�ne�sgd�eknnq>

01-� Dkhy‘adsg�g‘r�svn�f‘qcdmr�hm�gdq�x‘qc-�Sgd�ehqrs�f‘qcdm��
hr�7�edds�knmf�‘mc�5�edds�vhcd-�Sgd�rdbnmc�f‘qcdm�hr�sgd�r‘ld�
kdmfsg�‘r�sgd�ehqrs�f‘qcdm-�Sgd�vhcsg�ne�sgd�rdbnmc�f‘qcdm�hr�svhbd�
sgd�vhcsg�ne�sgd�ehqrs�f‘qcdm-�Enq◊Oqnakdlr�01‘›01c+�rdkdbs�Sqtd�nq�
E‘krd-

01‘-� ��Sgd�‘qd‘�ne�sgd�ehqrs�f‘qcdm�hr� Sqtd� E‘krd�
�37�rpt‘qd�edds-

01a-� �Sgd�‘qd‘�ne�sgd�rdbnmc�� Sqtd� E‘krd�
f‘qcdm�hr�13�rpt‘qd�edds-

01b-� ����Sgd�vhcsg�ne�sgd�rdbnmc�� Sqtd� E‘krd�
f‘qcdm�hr�01�edds-

01c-� �Sgd�‘qd‘�ne�sgd�rdbnmc�� Sqtd� E‘krd�
f‘qcdm�hr�svhbd�sgd�‘qd‘��
ne�sgd�ehqrs�f‘qcdm-

^�rpt‘qd�tmhsr
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�02-� Lr-�Eqnll�hr�‘�b‘qodmsdq-�Rgd�athks�‘�s‘akd�sg‘s�hr�2�edds�knmf�‘mc�
3�edds�vhcd-�Rgd�‘krn�athks�‘m�ntscnnq�sqddgntrd�ok‘senql�sg‘s�hr�2�
edds�knmf�‘mc�5�edds�vhcd�‘mc�‘�khsskd�rs‘fd�sg‘s�hr�2�edds�knmf�‘mc�7�
edds�vhcd-�Gnv�cn�sgd�‘qd‘r�ne�sgd�naidbsr�rgd�athks�bg‘mfd�eqnl�
sgd�s‘akdsno�sn�sgd�ok‘senql�sn�sgd�rs‘fd>

�

�

�

�03-� Gnv�l‘mx�rpt‘qdr�mddc�sn�ad�‘ccdc�sn�sghr�ehftqd�rn�sg‘s�hs�g‘r�
sgd�r‘ld�‘qd‘�‘r�‘�rpt‘qd�vhsg�‘�rhcd�kdmfsg�ne�5�tmhsr>

�04-� L‘mx�f‘qcdmr�‘qd�qdbs‘mftk‘q�rg‘odr-��
Sgd�entq�mdhfganqr�khrsdc�hm�sgd�s‘akd��
g‘ud�f‘qcdmr�sg‘s�‘qd�d‘bg�01�edds�knmf-��
Gnv�cn�sgd�‘qd‘r�ne�sgd�entq�f‘qcdmr��
bg‘mfd�vgdm�sgd�vhcsgr�bg‘mfd>��
Vqhsd�sgd�‘qd‘�ne�d‘bg�f‘qcdm�sn��
bnlokdsd�sgd�s‘akd-

�

�

^�rpt‘qdr

F‘qcdm�Rhydr

F‘qcdm Kdmfsg�
’hm�edds(

Vhcsg�
’hm�edds(

@qd‘�’hm�rpt‘qd�
edds(

Lq-�Lhkkr 01 3

Lqr-�Oq‘cn 01 5

Lq-�Yg‘n 01 7

Lqr-�Oq‘ss 01 0/
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05-� Jdhrg‘�cq‘vr�‘�rjdsbg�ne�gdq�khuhmf�qnnl�nm�fqhc��
o‘odq-�Vqhsd�‘mc�rnkud�‘�ltkshokhb‘shnm�dpt‘shnm��
sg‘s�b‘m�ad�trdc�sn�ehmc�sgd�‘qd‘�ne�sgd�khuhmf�qnnl��
hm�rpt‘qd�tmhsr-

^�rpt‘qd�tmhsr

06-� Lq-�Vhbjr�cdrhfmr�gntrdr-�Gd�trdr�fqhc�o‘odq�sn��
ok‘m�‘�mdv�gntrd�cdrhfm-�Nmd�ehftqd�gd�cq‘vr�hr��
rgnvm�adknv-�Vg‘s�hr�sgd�‘qd‘�ne�sgd�ehftqd>

07-� Cq‘v�‘�khmd�sn aqd‘j�sgd�ehftqd�‘o‘qs�hmsn�svn�qdbs‘mfkdr-�Ehmc�sgd�
‘qd‘�ne�sgd�ehftqd-�

08-� Vghbg�dpt‘shnm�b‘m�ad�trdc�sn�ehmc�sgd��
‘qd‘�ne�sgd�ehftqd>

@ � ’1� �2(�=�’1� �2(�=�’1� �5(

A � ’3� �2(�=�’3� �2(�=�’3� �8(

B � ’3� �2(�=’3� �2(�=�’3� �2(

C � ’1� �2(�=�’1� �2(�=�’1� �8(

1/-� Vgdm�xnt�bnudq�sgd�rtqe‘bd�ne�‘�ehftqd�vhsg��
tmhs�rpt‘qdr�sn�ehmc�hsr�‘qd‘+�vgx�ltrs�sgd��
rpt‘qdr�ad�mdws�sn�d‘bg�nsgdq�vhsg�mn�ro‘bd��
nq�f‘or�adsvddm�sgdl>�Dwok‘hm-
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8+173� �8+713

�00-� Vg‘s�mtladq�bnldr�mdws>

� � 04+�11+�18+�25+�32+-�-�-

� �

7-� Nqcdq�sgd�mtladqr�eqnl�kd‘rs��
sn�fqd‘sdrs-

2+540:�2+546:�2+450

� 8-� Vqhsd�‘mnsgdq�v‘x�sn�fqnto�sgd�e‘bsnqr-�
Sgdm�ehmc�sgd�oqnctbs-

’5�×�3(�×�1�

� �

Rohq‘k�Qduhdv�

5-� Ehmc�sgd�odqhldsdq�ne�sgd�ehftqd-�� � 6-� Ehmc�sgd�odqhldsdq�ne�sgd�ehftqd-��
D‘bg�tmhs�qdoqdrdmsr�0�ldsdq-

� �

� �

Kdrrnm�Bgdbj�
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0/-� Ehmc�sgd�lhrrhmf�e‘bsnq-

5�×�^^^^�>�1+3//��

�00-� Bnlo‘qd-�Vqhsd� +�<+�nq�>-

4+83/� �5+/38

5-� Sx�bts�‘�k‘adk�sgd�rhyd�ne�sgd�ehftqd�rgnvm-�
Vg‘s�hr�sgd�odqhldsdq+�hm�hmbgdr+�ne�Sx&r�
k‘adk>

� 6-� Itkhd�cqdv�sgd�bnlonrhsd�ehftqd�rgnvm-�
Vg‘s�hr�sgd�odqhldsdq+�hm�hmbgdr+�ne�sgd�
ehftqd>

� �

Kdrrnm�Bgdbj�

Srd�_m�hmbg�qtjdq�enq�Fqnajdlr�0�_mc�1 

7-� Vg‘s�hr�sgd�odqhldsdq�ne�sgd�ehftqd�adknv> � 8-� Entq�eqhdmcr�v‘ms�sn�rg‘qd�2�rdsr�ne�rbdmsdc�
l‘qjdqr�dpt‘kkx-�D‘bg�rds�g‘r�01�l‘qjdqr-�
Gnv�l‘mx�rbdmsdc�l‘qjdqr�vhkk�d‘bg�eqhdmc�
fds>�

� �
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6-� Vg‘s�hr�sgd�odqhldsdq�ne�‘�rpt‘qd�vhmcnv�
vhsg�rhcdr�2�edds�knmf>

7-� Vg‘s�hr�sgd�odqhldsdq�ne�sgd�qdbs‘mfkd>

� 8-� Qntmc�sn�sgd�md‘qdrs�gtmcqdc-

� � 261�

� �

�0/-� Ehmc�sgd�tmjmnvm�mtladq-

� � P�×�01�>�73

� �

00-� Ehmc�sgd�tmjmnvm�mtladq-

m�=�00�>�8

01-� Y‘g‘q‘�rbnqdr�13�onhmsr�ctqhmf�‘�a‘rjdsa‘kk�
f‘ld-�Svn�ne�gdq�a‘rjdsr�‘qd�2,onhms�rgnsr-�
Rgd�rbnqdr�sgd�qdrs�ne⅔gdq�onhmsr�vhsg�1,onhms�
a‘rjdsr-�Gnv�l‘mx�1,onhms�a‘rjdsr�cndr�
Y‘g‘q‘�rbnqd�ctqhmf�sgd�f‘ld>�

P�>�

m�>�


